Unit: Inequalities Name

Student Handoutf 3 Dafe Pd

TWO-GTEP INEQUALITIES

* Inequalities can be solved by following the same sfeps as equations.

« The must be alone or on one
side of the inequality.
GOLVING
TWO-QTEP » [solate the variable by using or opposite

operdtfions.

* Whatever you do to one side, you must do fo the

 INEQUALITIES

* When you multiply or divide by a number, the inequality
: signis

Solve each inequality, check your answer, and then graph the solufion.

1. : CHECK & GRAPH: 2. : CHECK & GRAPH:
10+3k<22 : 19> -4p -5 :
< ] | | a < | | ] a
- | | | v - | | | i
3. CHECK & GRAPH: 4. CHECK & GRAPH:
21r+3<6 : 12 <-5w - 32
< | | | ; < | | | a
- | | | v - | | | v
5. © CHECK & GRAPH: 6. : CHECK & GRAPH:
20+75>—15 _X_4_‘_7§3
< | | | A < | | | a
7 | |' D I —
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Solve the inequalities below for practice. Roll a pair of dice and find the sum of the fwo numbers
showing. Solve that problem.

GOLVE GOLUTION GRAPH GHOW WORK HERE:

A
v

4x -8 < 32

A
v

-6x + 9 <25

A
v

?Tx+8<41 ! ' !

7' N
v

2.5x =10 > 25

A
v

+2>-16

o) <

v

A

-16 > 5+ 7x

v

A

6+ 1.5x < -12

QO | J|O| OO | D] W N

A
v

-8x =94 > -21

A
v

o

42 > -6 + 3x

A
v

=

-10x + 25 <5

A
v

12 30<3x -5

Use your undersftanding of solving inequalifies to answer the questions below.

7. Rodney was asked to place a check mark next fo any inequality for which x = -3 makes fhe
inequality frue. Check over his work and correct any misfakes.

QUESTION #1 QUESTION #2 QUESTION #3
X <
\/—524x+“ \/Z+5S3'5 14+2x<9

8. Mrs. Miles asked her students fo identfify which values from the sef {-8, -4.5, -4, -3, -2.5, 0, 5}
safisfy the inequality -4x — 25 <-9. Which sfudent is correct?

XAVIER KAYLEE LIANG
-8,-4.5, and -4 only 0 and 5 only -4,-3,-2.5,0,and 5 only

Summarize today’s lesson:
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Unit: Inequalities
Homework 3

Name

Datfe

Pd

TWO-GTEP INEQUALITIES

Jamie is playing memory with mafh cards. Match each inequality with its solution. Record the
mafches af the boftom of the page and graph the solufion sef on the number line.

P

r}x2>12 2x+6<20 || Z3-2<-4 || 3x-1x-10
r 17 <-5x-23 -3 = 6x + 39 X+5>6

P

x>6

x>3.5

x> 4

N N N N

<

v

y N

v
A

v

v

v

A

v
A

v

v

©Maneuvering the Middle LLC, 2016




